TOYOTA COROLLA HATCHBACK
m CARGO BARRIER ‘FRONT POSITION KIT Ay
/ \ ‘INSTALLATION INSTRUCTION P )
MILFORD Part # 607202 L~ 9%
potivd you allthe nmy VEHICLE YEARS OF MANUFACTURE - FROM JUNE 2018

Use this kit with Cargo Barrier part number 607202 only.
Kit will enable the barrier to be installed in the behind 1st row seats position.

Installation time approximately 10 Mins.

“The estimated fitting time is based on an experienced fitter
conversant with the fitment procedure®

Parts List

Item Component Name Part No. | Qty
1 Screw - Hex Head M10 x 1.5 x 25 912215 2
2 Washer - Crinkle 3/8” 932125 2
3 Milbolt - M10 x 1.5 x 19mm 912820 4
4 Milbolt - M10 x 1.5 x 24mm 912825 2
5 Top Link Strap 771008 2
6 Top Strap LHS 776047 1
7 Top Strap RHS 776049 1
8 Lift Panel ASM (with lateral support bracket) 753134 1
9 Bottom Strap LHS 776243 1
10 Bottom Strap RHS 776244 1

607202FI Issue A: 12/18  ©Milford Industries www.milford.one Page No. 1 of 5




A\

MILFORD
potind (o ol #ha way

TOYOTA COROLLA HATCHBACK

CARGO BARRIER ‘FRONT POSITION KIT

‘INSTALLATION INSTRUCTION
Part # 607202

VEHICLE YEARS OF MANUFACTURE - FROM JUNE 2018

/A’"'m\

W

ASSEMBLE LINK STRAPS TO CARGO BARRIER

1. Unscrew the bolt and nut from the top
strap. Leave the rear position strap in
place at the moment. Discard the 20mm
long saddle screws.

2. Replace the saddle screw with item 1.

3. Attach a top strap (5) underneath the
pivot saddle, and secure the nut back
onto the screw. Tighten until the strap is
firm but can still be pivoted.

Note: If installing in the front position immedi-
ately, continue through steps below. Other-
wise, install in rear position as per rear posi-
tion installation instructions.

LHS Shown

4. Put the seats down in the second row.
5. Lay the cargo barrier front side down.

www.milford.one

Page No. 2 of 5




TOYOTA COROLLA HATCHBACK
m CARGO BARRIER ‘FRONT POSITION KIT

g /W
INSTALLATION INSTRUCTION P>
MILFORD Part # 607202 - —
ohivdd qoum allthe v VEHICLE YEARS OF MANUFACTURE - FROM JUNE 2018
|
1
i
w
|
H‘ 6. Attach the lift panel ASM (8) to the bot-
I tom cargo barrier brackets using 24mm
| Milbolts (4) and washers (2).
& 7. Lift the cargo barrier up, with the lift
I - = panel ASM sitting on the rear seats.
\\\t\\\ ///,,,:—;E,,iiZif—i::j:'i::j:::j::i7//7/
s
o =N @ 6
/ SR 8. Attach the LHS top strap (6) to the top
//// S \j\;\\ strap on the cargo barrier using 19mm
j T~ Milbolts (3) as shown.
// NRERE 9.  Repeaton RHS.

10.  Secure the top straps to the top mounts
at the rear of the vehicle with the Mil-
bolts used for the rear position as
shown.

L |

T,
INSTALLATION PROCEDURE FOR LOWER STRAPS

— A

11. Remove the Milbolt and washer at-
tached to the LHS of the lift panel ASM

and place a LHS bottom strap (9) as
shown.

607202FI Issue A: 12/18  ©Milford Industries

www.milford.one Page No. 3 of 5




TOYOTA COROLLA HATCHBACK

m CARGO BARRIER ‘FRONT POSITION KIT A
/ \ ‘INSTALLATION INSTRUCTION P> !

MILFORD

gohind you all the way VEHICLE YEARS OF MANUFACTURE - FROM JUNE 2018

Part # 607202

12.

13.

Reinsert the Milbolt and washer and
tighten.
Repeat on the RHS.

LHS Shown

14.

15.
16.

Secure the bottom LHS to the bottom
mount using the Milbolt used for the
rear position as shown.

Repeat on RHS.

Firmly tighten all Milbolts.

Note: Reserve the procedure to move the
cargo barrier to the rear position or remove
from the vehicle.

607202FI Issue A: 12/18  ©Milford Industries

www.milford.one

Page No. 4 of 5




A\

MILFORD
potind (o ol #ha way

TOYOTA COROLLA HATCHBACK
CARGO BARRIER ‘FRONT POSITION KIT
‘INSTALLATION INSTRUCTION

Part # 607202
VEHICLE YEARS OF MANUFACTURE - FROM JUNE 2018

INSTALLATION OF CARGO BARRIER
‘Behind front row of seats’

ltem 3
- {}f’
AT
= / 34mm Milbolt
_J and washer
) '-"""""'--,.,_,__
i TTT—
ltems 4 & 2
Lift Panel ASM
(Item 8) e )
@,a‘ﬁé\
19mm Milbolt
and washer

IMPORTANT NOTE: Check that all bolts and
screws are tight and re check periodically.

607202FI Issue A: 12/18

©Milford Industries

www.milford.one Page No. 5 of 5




